
©https://worksheetplace.com Clipart: https://scrappindoodles.ca

1

Pip, Nip and Bip are three little pigs. They have big 

noses and little lips. These 3 little pigs can all do a 

jig. They can jiggle their hips to do a jig. The pigs 

are not big but they are very fit. Pip felt a pin 

and fell into a pit. Nip and Bip helped her 

out of the pit. Now the three 

little pigs can all jig again.

1. Read the passage about 3 little pigs.

2. Underline each word that you could not read.

3. Circle each word that took you more than 1 try.

4. Answer the questions.

3 Little Pigs: Short i
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1. What are Pit, Nip and Bip?
a. dogs
b. pigs
c. pets

2. What can the 3 pigs do?
a. run
b. dance
c. a jig

3. The pigs are not:
a. small
b. big
c. fat

4. What did Pip fall in to?
a. a pit
b. a hole
c. a lake

5.    How many pigs are there?
a. two
b. four
c. three

Answer according to the reading passage:
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Answers:

1. What are Pit, Nip and Bip?
a. dogs
b. pigs
c. pets

2. What can the 3 pigs do?
a. run
b. dance
c. a jig

3. The pigs are not:
a. small
b. big
c. fat

4. What did Pip fall in to?
a. a pit
b. a hole
c. a lake

5.    How many pigs are there?
a. two
b. four
c. three


